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HYHF RO X FRE A (A 1R 35 1)

(HAT :mg/L)

i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 000100 000200 000300 000400 000500
7 2 FE () FEH RE RE e REA
T FEH RE RE e REA
FSRIX 5 —mesxm | —mmm | £Emkx | £EEk | —m&A
KA A B H26.11.7 | H26.9.24 | H26.9.24 | H26.11.7 | H26.11.6
KIR(C) 17.6 19.8 19.5 16.5 16.5
AU (mS/m) 17.3 17.8 19.0 18.5 17.8
pH 7.2 71 7.2 71 7.0
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 000600 000700 000800 000900 001000
7 2 FE () 2.5 7.0 RE 10.0 RE
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.6 | H26.11.6 | H26.11.6 | H26.11.6 | H26.11.6
KIR(C) 17.5 16.5 16. 4 17.1 17.5
AU (mS/m) 17.6 20.2 16.8 16.7 18.3
pH 7.0 6.9 7.0 6.8 71
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 001100 001200 001300 001400 001500
7 2 FE () FEH RE RE e 5~6
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.6 | H26.11.6 | H26.11.6 | H26.11.6 | H26.11.6
KIR(C) 16.9 16.7 17.2 16.5 17.0
AU (mS/m) 16.9 15.5 17.0 15.5 16.5
pH 7.2 6.9 7.0 71 7.0
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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HYHF RO KR RE (A 1R 3 552)

(HAT :mg/L)

i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 001600 001700 001800 001900 002000
7 2 FE () 8.0 RE 8.0 7.0 RE
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.6 | H26.11.7 | H26.11.6 | H26.11.12 | H26.11.12
KIR(C) 17.5 19.0 16.0 17.5 16.8
AU (mS/m) 21.8 14.0 33.8 19.8 19.9
pH 7.0 6.9 7.0 7.2 71
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 002100 002200 002300 002400 002500
7 2 FE () 10.0 20.0 RE 5~10 4~5
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.21 | H26.11.12 | H26.11.12 | H26.11.12 | H26.11.12
KIR(C) 17.1 16.5 18.0 17.5 17.0
AU (mS/m) 26.2 18. 1 15. 6 16.0 15. 4
pH 71 7.3 71 71 7.0
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 002600 002700 002800 002900 003000
7 2 FE () RE RE 5.0 3~4 RE
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.12 | H26.11.13 | H26.11.12 | H26.11.12 | H26.11.12
KIR(C) 18.4 16.8 17.0 18.0 18.0
AU (mS/m) 16. 1 14.5 17.2 17.3 21.7
pH 7.0 7.0 7.0 7.2 71
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005

- 210 -



HYHF RO KRR (A 1R 32 533)

(HAT :mg/L)

i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 003100 003200 003300 003400 003500
7 2 FE () RE 8.0 10.0 13.0 RE
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.12 | H26.11.12 | H26.11.13 | H26.11.13 | H26.11.6
KIR(C) 18.0 17.5 17.2 15.0 16.5
AU (mS/m) 15. 2 18.8 13.3 27.7 15. 6
pH 71 6.9 71 7.0 7.0
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 003600 003700 003800 003900 004000
7 2 FE () RE 3~4 5~10 RE 15.0
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.6 | H26.11.13 | H26.11.13 | H26.11.13 | H26.11.13
KIR(C) 16.0 17.0 19.9 17.8 17.0
AU (mS/m) 35.9 23.3 17.7 17.5 16. 1
pH 6.7 7.0 71 7.0 7.0
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 004100 004200 004300 004400 004500
FH G (m) 1~BH N 8.0 8.0 12.0
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.13 | H26.11.13 | H26.11.13 | H26.11.21 | H26.11.21
KIR(C) 17.8 16.5 16.5 18.0 17.6
AU (mS/m) 18.0 2.5 271 21.5 34.0
pH 71 6.9 7.2 71 6.9
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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HYHF RO KRR E (A 1R 3255 4)

(HAT :mg/L)

i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 004600 004700 004800 004900 005000
7 2 FE () 30.0 5.0 RE 30.0 6.0
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.13 | H26.11.13 | H26.11.13 | H26.11.13 | H26.11.13
KIR(C) 17.9 19.0 15.5 16.0 16.0
AU (mS/m) 35.1 28.7 22.0 31.2 25.8
pH 7.0 7.0 7.3 7.2 7.2
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 005100 005200 005300 005400 005500
FH G (m) 1~BH N 8.0 8.0 8.0
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.21 | H26.11.13 | H26.11.13 | H26.11.13 | H26.11.13
KIR(C) 16.0 16.0 16.0 16.3 16.5
AU (mS/m) 23.5 271 20.4 19.7 19.4
pH 71 7.0 71 71 71
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i XETF 4, PO EEET PO EEET PO EEET PO EEET POEEET
T XHTff = — R 365 365 365 365 365
Hi[X 4, BE) BE) BE) BE) BE)
Hi X 7 5 0030 0030 0030 0030 0030
H & 005600 005700 005800 005900 006000
7 2 FE () RE 3~5 7.0 18.0 RE
T FEH RE RE e REA
FRX 5 —mem | —memAm | —esm | -memm | —Bsm
KA A B H26.11.13 | H26.11.13 | H26.11.13 | H26.11.13 | H26.11.21
KIR(C) 16.5 16.0 16.0 16.0 17.3
AU (mS/m) 24.6 23.8 21.5 19.4 20.3
pH 71 7.0 7.0 7.2 71
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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HYHF RO KRR (A 1 32 535)

(HAT :mg/L)

1 XHT A 4 R g T R g T R g T R g T R g T
TXET A2 —R 365 365 365 365 365
X4 DA DA DA EEAT) R
M X H = 0030 0030 0030 0030 0090
HFEES 006100 006200 006300 006400 000100
FHFREE (m) T~ T~H 1B s 71~8
e RH A T~ T~H T~ T~ EHF
MK Sy — &R A — &R A — &R A — %8 F HTERAK
BOKEA H H26. 11. 21 H26. 11. 21 H26. 11. 21 H26.11.12 H26.11.7
ZKIE(°C) 17.3 16.8 16.3 16.8 16.0
BERUREZ (mS/m) 41.2 19.0 11.8 16. 1 17.8
pH 7.0 1.4 7.3 7.1 7.1
=== < 0.005 < 0.005 < 0.005 < 0.005 0.014
1 XHT A 4 R g T R g T R g T R g T R g T
TXET A2 —R 365 365 365 365 365
X4 B4 E B4 E B4 E B4 E By E
M X H = 0090 0090 0090 0090 0090
HFEES 000200 000300 000400 000500 000600
FH PR (m) 15.0 6.0 2~3 6~7 6.0
e RH A T~ T~H T~ s 1B
MK Sy — &R A — &R A — &R A — &R A — &R A
BOKEA H H26.11.13 H26.11.13 H26.11.7 H26.11.7 H26.11.7
ZKIE(°C) 16.5 17.5 17.5 16.5 17.0
BERUREZ (mS/m) 25.4 18.4 26.2 15.6 12.4
pH 6.9 6.9 6.6 7.0 1.2
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
1 XHT A 4 R g T R g T R g T R g T R g T
TXET A2 —R 365 365 365 365 365
X4 B4 E B4 E B4 E B4 E By E
M X H = 0090 0090 0090 0090 0090
HFEES 000700 000800 000900 001000 001100
FHFREE (m) 5.0 F ;) P N:) Nl 1B
e RH A T~ T~H T~ s 1B
MK Sy — &R A — &R A — &R A — &R A — &R A
BOKEA H H26.11.7 H26.11.7 H26.11.7 H26.11.7 H26.11.7
ZKIE(°C) 16.5 18.0 17.5 17.5 16.5
BERUREZ (mS/m) 12.3 15.2 16.7 41.9 21.5
pH 7.1 6.9 1.2 1.2 7.0
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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HYHF RO X TR (A 1 32 536)

(HAT :mg/L)

1 XHT A 4 R g T R g T R g T R g T R g T
TXET A2 —R 365 365 365 365 365
X4 B4 E B4 E B4 E B4 E By E
M X H = 0090 0090 0090 0090 0090
HFEES 001200 001300 001400 001500 001600
FH PR (m) N b~6 1~BH 10.0 10.0
e RH A T~ T~H T~ s 1B
MK Sy — &R A — &R A — &R A — &R A — &R A
BOKEA H H26.11.13 H26.11. 6 H26.11.7 H26.11.7 H26.11.7
ZKIE(°C) 16.0 17.5 16.0 16.5 16.5
BERUREZ (mS/m) 18.4 19.2 18.4 23.8 17.7
pH 7.1 6.9 7.3 1.2 7.3
=== < 0.005 < 0.005 0. 006 < 0.005 < 0.005
1 XHT A 4 R g T R g T R g T R g T R g T
TXET A2 —R 365 365 365 365 365
X4 B4 E B4 E B4 E B4 E ThLT
M X H = 0090 0090 0090 0090 0100
HFEES 001700 001800 001900 002000 000100
FH PR (m) N 10.0 20~30 9.0 1BH
e RH A T~ T~H T~ s 1B
MK Sy — &R A — &R A — &R A — &R A — &R A
BOKEA H H26.11.7 H26.11.7 H26.11.7 H26.11.7 H26. 11. 21
ZKIE(°C) 17.0 16.5 16.5 16.9 17.0
BERUREZ (mS/m) 18. 1 14.1 15.5 19.1 17.2
pH 7.0 7.1 7.1 7.1 7.1
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
1 XHT A 4 R g T R g T R g T R g T R g T
TXET A2 —R 365 365 365 365 365
X4 FTHhLT THLT THALT THhET ThET
M X H = 0100 0100 0100 0100 0100
HFEES 000200 000300 000400 000500 000600
FH PR (m) 5.0 N 71~8 N 15~20
e RH A T~ T~H T~ s 1B
MK Sy — &R A — &R A — &R A — &R A — &R A
BOKEA H H26.11.12 H26.11.12 H26.11.12 H26. 11. 21 H26. 11. 21
ZKIE(°C) 16.4 15.8 16.5 17.0 17.3
BERUREZ (mS/m) 18.6 12.4 31.8 51.8 21.7
pH 7.1 6.9 6.8 6.7 6.8
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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THReH 7 0 X R AR A O ) | R 520 53 7)

(HAT :mg/L)
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1 XHT A 4 R g T

TXET A2 —R 365

Hi1 X 44 ThLT

M X H = 0100

HAES 000700

FHFREE (m) B

&R T~

Ri&EX 5 — &R A

BOKEA H H26. 11. 21

ZKIR(°C) 19.3

BERIEE (mS/m) 17.5

pH 6.8

e < 0,005

1 XHT A 4 INATH INATH INATH INATH INATH
TXET A2 —R 203 203 203 203 203
H1 X 44 [A] 7 7 BT [A] 7 7 BT A] 7 7 BT [A] 7 7 BT [A] 7 7 BT
M X H = 0510 0510 0510 0510 0510
HAES 000300 000400 000500 000600 000700
H R (m) N 4.0 1~BH 5.0 1BH
&R T~ EHF T~ EHF T~
Ri&EX 5 AERAK HTERAK HERAK HERAK HTERAK
BOKEA H H26.11.14 H26.11. 14 H26.11.14 H26.11. 14 H26.11. 14
ZKIR(°C) 18.3 19.4 18.4 19.9 18.5
BERUREZ (mS/m) 19.4 22.6 22.5 36.0 18.1
pH 6.4 6.5 6.9 6.1 6.3
HERME R R OV et 2= 3R 10 4.4 2.3 6.9 4.8
1 XHT A 4 INATH

TXET A2 —R 203

Hh X4 [A] 7 7 BT

M X H = 0510

HAES 000800

FHFRE(m) 3.0

&R EHF

Ri&EX 5 AERAK

BOKEA H H26.11.14

ZKIR(°C) 17.8

BERIEE (mS/m) 14.0

pH 6.3

THEAMEZE R R OV iH R EE 3R 1.3



